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Remember, you must turn in a completed review in order to complete test corrections.
Factor each polynomial using the GCF.
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Factor each trinomial. (Be sure to check for a GCF first!) Check your answers on tI%:‘calcula-a‘or. €
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Factor each trinomial. (Be sure to check for a GCF first!) Check your answers on the calculator.
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11. The area of a rectangle is 3x% +14.x + 8, and the width islr)?f_-i-_‘i. Which expression best describes the

rectangle’s length?
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12. The area of a rectangle is x> +2x—3. Which of the following could be length and width?
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13. If the area of a square is x* +10x
is the length of each side?
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15. Using the algebra tiles, what are the factors of 2x* +5x+3?
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14. Which binomial is a factor of 3x*+5x +27
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